
Scene of a Quake (Solution)

by Rishi Gupta

This is a dropquote puzzle, rearranging each column.

F O R E A C H L E T T E R I N T H E T O P

G R I D R E P L A C E I T W I T H A O N E

I F I T S H I F T E D A N D A Z E R O I F

N O T D I S C A R D T H E F I R S T R O W

A N D P A R S E E A C H C O L U M N A S A

F I V E D I G I T B I N A R Y N U M B E R

Follow the instructions, and you end up with the following grid:

0 1 0 0 0 1 0 0 0 0 1 0 0 0 1 0 0 1 1 1 0

0 0 0 1 0 0 1 0 1 1 0 1 1 1 0 1 0 0 0 0 0

1 0 0 1 0 1 0 0 1 1 1 0 1 1 0 0 0 1 1 0 1

0 1 0 0 0 0 0 1 0 1 0 0 1 1 0 0 1 0 0 1 0

0 0 1 1 1 0 1 1 1 1 0 1 1 0 0 1 1 0 1 0 1

Then read each column as a 5-digit binary number. It gives the final answer, DRAMATIC MOTION
PICTURE.


